&

SANEI
TRACTION

MR RS
MACHINE lJ\ Ef%ﬂ‘l— g FH rh B2
2ET '10.8.19
H
p
&
H1
| [an
B
£
ST TEE —
No. | % H77 % md‘i g ME | B | D | H [ H | P | U] K
11100 | 6 | 1 | 15 [ 1 [620222] 17 | 105 | 14 | 11 55 | 35
2 [ 120 | 6 | 2 | 17 | 1 | 62032z 24 | 125 | 24 | 12 | 10 | 52 | 40
3 [ 150 | 6 | 2 | 20 | 1 [6204zz ] 28 | 158 | 26 | 14 | 10 | 60 | 47
4 [ 180 | 6 | 2 | 17 | 1 |6203zz| 24 | 185 | 24 | 12 | 10 | 52 | 40
5 [ 200 | 8/6 | 2 | 25 | 2 [ 600522 32 | 208 | 30 | 24 | 12 | 62 | 47
6 | 220 | 8/6 | 2 | 25 | 2 [ 600522 ] 32 | 228 | 30 | 24 | 12 | 62 | 47
7 [ 250 [10/8] 2 | 30 | 2 | 60062z | 40 | 260 | 38 | 26 | 16 | 75 | 55
8 | 250 [10/8] 3 | 30 | 2 | 62062z 65 | 260 | 54 | 55 | 16 | 80 | 62
9 [ 320 8 | 2 | 30 | 2 | 62062z 55 | 330 | 40 | 44 | 16 | 80 | 62
10 320 | 8 | 3 | 30 | 2 | 620622 50 | 330 | 48 | 38 | 14 | 80 | 62
11350 | 10 | 3 | 40 | 2 | 620822 80 | 360 | 60 | 70 | 16 | 105 | 80
12 | 400 | 10/8] 3 | 40 | 2 | 62082z 80 | 412 | 62 | 68 | 18 | 105 | 80

DP-1




